MULTI CHOICE QUESTIONS FOR THE WEBSITE FOR “ACCOUNTING 2”

Disk title A22MultiChoice

CHAPTER 5 – PRIMARY PRODUCERS

5.1 The reason why no value is given for natural increases and deaths in the livestock account is

(a) Natural increases are balanced by natural decreases

(b) Only the numbers of livestock are affected

(c) The taxation laws require it

(d) The closing balance of numbers and values will reflect the average stock on hand√
5.2 The opening balance of sheep was $600 (300 head). 100 sheep were purchased for $400 and natural increase is 100 head valued at $200. The average closing balance of livestock on hand, per head, is

(a)  50 cents each

(b) $1.00 each

(c) $ 2.00 each 

(d) $ 2.40 each √
5.3 Which item is not part of the Wool account?

(a) Depreciation of shearing equipment

(b) Rations for general farmhands √
(c) Wool bales on hand

(d) Shearer’s wages

5.4 In a sheep livestock account, the deaths of lambs due to a cold spell are

(a) Not recorded at all

(b) Included by number with no value, to balance the number of livestock on hand at the end of the period √
(c) Recorded with a value, similar to that approved by the Income Tax Act

(d) Recorded with a value and the number of stock lost

5.5 Agistment expense to a farmer is

(a) The cost of grazing livestock on a farmer’s own land

(b) The cost of grazing livestock on a neighbour’s land √
(c) Hay and chaff bought in for stock feed

(d) None of the above

5.6 Rations of livestock, consumed by the farmer’s personally, are costed to

(a) The Livestock account

(b) The Wheat account

(c) The Wool account

(d) The Drawings account √
5.7 The opening balance of livestock is 600 head @ $5 each. Natural increase is 400 @$2 each and purchases are 5000 @ $6 each. Sales were 5400 head @ $15 each and there were no deaths. Calculate the value of the closing stock at average cost.

(a) $2300

(b) $3380 √
(c) $3580

(d) $3700

5.8 Calculate the value of closing stock, to the nearest dollar, if in addition to the information in 5.7, there were natural deaths of 200 head and rations of 40 head @$6 each

(a) $ 1915

(b) $ 2028 √
(c) $ 2141

(d) $ 2253

5.9 Which of the following items is not part of the Wheat account

(a) The Growing crop account from the previous year

(b) Fertiliser

(c)  Wheat seed

(d)  Veterinary fees √
5.10 Which of these items is not a current asset in the Statement of Financial Position?

(a) Livestock on hand

(b) Wheat sales √
(c) Stores on hand

(d) Unsold wool bales
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